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Sidleyenysen : (1)

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of fairness,
inform the Hall Supervisor immediately.
(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.

u@dl - 1/PART -1
Gy : () Slvess damssEns@h oo weliésab. 15x1=15
(i) Qar@&slul(Herer HI6E IO NenLsafléd W& gnLenL_ul
deLowus Csibdsdsss UL damLlomauyd Gsirgs
GT(PSGYLD. |
Note : (i)  Answer all the questions.

(i) Choose the most appropriate answer from the given four alternatives and write
the option code and the corresponding answer.
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1. &psam aunsdunisoas snHd Csres.
UIHS STHH mnéf\)@ci).r'r' GabiGwiid.
() Gopaurer Qeuour® CararLg.
() Pstugwrer emswsmpsmear Carpmedlsdeper.
(i) ysenp edrCeuafl QaramL msws@rismer e (HursGHams.
(1) (i) wpmid (i) sRwrarteney pemmed (iii) sflwurangee.
(<) (i) swreng) yemme (i) O (iii) sNwreaTae .
(8) () wHgd (i) FAwWraTEmeILOH pamTe (iii) sflwreng.
(7) (i) sflwrangede gpemme (i) wHmib (i) sAwratanay.
Consider the following statements.
In spring season vascular cambium :
(i) islessactive.
(i) produces a large number of xylary elements.
(iii) forms xylem vessels with wide cavities of these.
(a) (i) and (ii) are correct but (iii) is not correct.
(b) (i) is correct but (ii) and (iii) are not correct.

() (i) and (ii) are not correct but (iii) is correct.

(d) (i) is not correct but (ii) and (iii) are correct.

2. ung ghemiyerLw Q& HETED NG LSREMISD SMHSUILRUSHE STTeRTD
(21) gafléCersams afleven perL_GlLmieuGTeD
(=) geucilemmed @l (Hererg
(@) DNA 2 crengmed
(F) RNA o_greng)
Identify the reason for “Chloroplast is a semi-autonomous organelle”.
(a) carry out photosynthetic reactions
(b) membrane bounded

(c) presence of DNA
(d) presence of RNA
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3. @Lb('.?amrduGufnbs;aﬂén Fmaper He o (meureug) :
(1) SODSREST e
(<) s@upBelan Gung)
(@) sm euerd Gurg)
(7) sQUDSRES Cpar
In Gymnosperm, endosperm is formed :
(a) after fertilization
(b) at the time of fertilization
(c) along with the development of embryo
(d) before fertilization

4. &Crreev ferGaruev - auaslUTL (H WD TG

(1) Qeriuflerrmo eull euensiLTL{B peD

(=) Qewbhens euensLILTL(H pedm

(@) Caudl werp euersILTLH WP

(F) Qupens cuensLuLUTL({H peD

The Classification system of Carolus Linnaeus is

(a) Phylogenetic system of classification

(b) Artificial system of classification

(c) Chemotaxonomy

(d) Natural system of classification

G Teu(meLIeUDIIET TES e cllens 2 NESEDS B&&6 LwauBSSULBEame ?

5.
(1) Gorged Blapisise (<) HBSs@0ESD
(@) dengwjenp QegHE0 (F) Guhamdlu earsgib
Which one of the following methods are used to break the seed dormancy ?
(a) Impaction (b) Stratification
(c) Scarification (d) All the above
A [ Siliys / Turn over
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6. Qurmiss.
SERTIG6 2 (HOAHOLD sreurglen QLW
(1) Wb () QaraGsdwur
(2) spswd (i) Gsenm
(G) wiLfes sar@ (i) yealwid Fir
4 Apre (v) Gererend gy iCrreLd

(=) W), -0), B)-@), @-Gv) () (-(ii), (-, G)-(), 4)-(v)
(&) O-Gv), @), B)-G), @-@) (/) (1)-(), (), (3)-(ii), (4)-(iv)

Match :
Stem modifi.cation Plant name
(1) Bulb (i) Colocasia
(2) Corm (ii) Canna
(3) Rhizome (i) Allium cepa
(4) Tuber (iv) Solanum tuberosum

@  (Q)-Gi), -0), @)-(H), @-Gv) ) (1)-(i), 2)-(H), @)-() (4)-(iv)
(€ (@-v), @-@), @)-() @-GD) () (M)-() (I-G), B)-(ii), (4)-(iv)

7.  aflenpliLpssd 2 e QFdeia :
(<1) DPD=0 euafl; OP=5 auafl; TP =10 euefl.
(<4,) DPD =10 euefl; OP =5 euafl; TP=10 euefl.
(@) DPD=20 euafl; OP=20 auafl; TP=10 euafl.
(7) DPD=0 euafl; OP=10 euefl; TP=10 euef.
In a fully turgid cell :
() DPD=0 atm; OP=5 atm; TP =10 atm;
(b) DPD=10 atm; OP=5 atm; TP=10 atm;
(c) DPD=20 atm; OP=20 atm; TP =10 atm;
(d) DPD=0atm; OP=10 atm; TP=10 atm;
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asp® @LCw Cgrg. Gaiged (Hamiuflav) perCQupflpg ?
(=) Quan® &5 GCrmGwrGambser
(«23) mRNA wpmpid engGurGambser

(®) om & whmb em Quear CaBLGH

(F) &HiGsrd Qenpaer wppid Qe Crmlwiser
Synapsis occur between :

(@) two homologous Chromosomes.

(b) mRNA and Ribosomes.

(c) amale and a female gamete.

(d) Spindle fibres and Centromeres.

QrognGaréléd o drar B-D GE@p&CaTen @GS GETNILGT Q6D
Yeresriume) @QenenréasLiul_(HeTensg.

(=1) 193 Qevewriiy

(=) N-SifllenLed uGssiudlalser

(@) B-(1, 4) flewendamans iqd enewTiiL]

() N-sifllenLed D - @ensCareanioea

The B-D Glucose units in cellulose are linked together by :
(a) 1-3 Linkage.

(b) N-acetyl side chains.

(c) B-(1, 4) glycosidic Linkage.

(d) N-acetyl D - Glucosamine.

Bren® epaseamy sl CLrGsredls NADH +‘ H* g éaligCGarmmwentujb Curs
grauriisaid e meair@h ATP gpessapsaflen crararfsans :
(31) 6 ()3 (@) 8 (rF) 4

During oxidation of two molecules of cytosolic NADH + H*, number of ATP molecules
produced in plants are :

(@ 6 ) 3 © 8 @ 4

[ Hwliys / Tumn over
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11.  sflwrereuperpls QummESs.
Sevflomusen uemfaen
(1) wrellgembd () uw&Feswld
(2) gsspTHD (i) QusHCwmeflen
3) OQusaiélwb (iii) <y &Sem
(4) seur (iv) eplCrrgGanev

12.

(1) (D-v), )-(id), (3)-G), (4)-(ii)
(<) (V-0), -, B)-(iv), ()-(ii)
(@) -@v), @), B)-(), (@)-(ii)
() (-, (-G), @)-(id), (4)-(iv)

Match the correct combination.

Minerals Role
(1) Molybdenum (i) Chlorophyll
(2) Zinc (i) Methionine
(3) Magnesium (iii) Auxin
(4) Sulphur (iv) Nitrogenase

(@) - (1)-(iv). (2)-(ii), (3)-(), (4)-(i)
) (1)-6), 2)-(ii), (3)-(iv), (4)-(ii)
(©  @)-v), (-, (3)-(), (4)-(ii)
(d)  @)-(), (-(), (3)-(i), (4)-(iv)

beotiugsd urlsGarm® AsTLiyenw sflwrer Fapm erg ?
(1) 2L osmss anfl BIw,Cosh 5nmﬂu®m@sbmm
(<) paiteugDETa 2 miliL|ser Qo

(8) yGermfligwen srsid sreluBEng,

(rF) Geed seufler GedvayGeman sramiLB &g

The correct statement regarding Blue green algae is

(a) absence of mucilage around the thallus

(b) lack of motile structure

(c) presence of floridean starch

(d) presence of cellulose in cell wall
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13. @@ SigHeons greurs samean LnsGarans Card uGHTIL srariu@n Ha.

(=1) cvdlafiQyanensiom (<)) UrFeensLOM
(@) @Cetrretension (r) Gareenensiom
The tissue found in hypodermis of dicot stem :

(@)  Sclerenchyma (b) Parenchyma
(c) Chlorenchyma (d)  Collenchyma

14. ereueuens LFMFWSHD @ULLIG urdugd sramiu@eaudoma ?

(<=1) u&FepswID ¢ (=) uéeswd a
(8) usevswibd d () u&enswd b
Which chlorophyll molecule does not have a phytol tail ?
(@) Chlc (b) Chl-a

() Chld (d) Chl-b

15. o &enws safl eraTugy
(1) wefleér Gaslieomu, yoelaulLib wpmib ugserd saflung o meureg).
(=) vefler Gasleu WL HGCW sallurs 2 Hairaug).
(®) vl Swads el LksEsD salurs o (marag).
(rF) wvefler Gaslieu wHmb Ladeleul L1 safluirg o (meureug).
A true fruit is the one where :
(@) Ovary, calyx and thalamus of the flower develop into fruit.
(b) Only ovary of the flower develops into fruit.

(c) All floral whorls of the flower develop into fruit.
(d) Ovary and calyx of the flower develop into fruit.

L@ - 11/ PART - 11

GBIy : eTemaCwaibd gyn) eflamés@séE WG efaLwalldEsab. efanr erer 24 -&@,
&LLmuwns eflenLweflssab. 6x2=12
Note : Answer any six questions. Question No. 24 is Compulsory.

16. ssmilsale sramiL@wn ewédukseafea amssmars GHIGARHS.
Name the types of mycelium found in Agaricus,

17. “Q&Cammanecls” upd Helli sidleug wrg ?
What do you infer from the term “Pycnoxylic” ?
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18. @esdsmfhld FaT® eTempre) erenat ? L FNTEID H(HS.
What is Phylloclade ? Give an example.

19. sreupd QsdgiEm, Aenie@ Qeogsod GeoLGw o arer FgCp@ib @)rem®
Caupur@smer erpss.

Write any two differences between plant cell and animal cell.

20. erwLLrflevfler glsed @reawt® ApLidwdyseer eT(sIs.

Write any two significance of mitosis.

21.  evweran, Curred slerLew Caupu®ssls.
Differentiate the wood formed in Pinus from that of Morus.

22. yeaugé efgerw, yssnbys Asdonm QuUrd Lo, WPEWLWTE BHSHEIS
war, gafigs yodleu L, gafllss idaleal Lib, Guawl L Gosiiou Qe

wafiar et GsfrsHaer arupgs.

Find out the floral formula for a bisexual flower with bract, regular pentamerous, distinct
calyx and corolla, superior ovary without bracteole.

23. RNA -afilérn cuenssena 6T(1955.
Write the types of RNA.

24. grauy BrrelliCuréE sMLLTeansafler LeTsmeTs GHU9Bs.

Point out the uses of plant anti-transpirants.

L@$ - 11/ PART - III
GBIy : eremauCugnid sum eflenméseméE wi_Bib aﬁ]mt_merﬂasassqm eflen erei 33 -&xs,
s_L_muwns e wellé&sayb. 6x3=18
Note : Answer any six questions. Question No, 33 is Compulsory,

25. ess milgoas srodda Gnég Qaul@s Camppsdenar LL b cuens
UNsEIGmeTdE @hlEseyL. THIl

Draw and label the parts of Cycas Rachis T.S,
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@0 BO BrDUMLeEELD, Le BO BrbUmweysEh @ Gu o drar Cauguri e s
ENOTS

Differentiate pinnate unicostate with palmate multicostate venation.

Blugevr unzmm!?wfra/rgrrmugg]sh LOQIT GHSGEITLD 6T(LPH BIH6H LT URTUILLD EUENTS.

Write the floral formula of Musa Paradisiaca and draw their floral diagram.

graurs Cedsaligid elene Gsosaiaib msl CLrmsaldlen — Camubsss.

Differentiate cytokinesis in plant cells and animal cells.

L Gaoravsar — Amy GOy cuamps.

Write short notes on Tyloses.

sreursgle &&Grretlenen GLmb gafl§Garsams Qauiueliuar LGHaamer LIS Hs.

List out the non-photosynthetic parts of a plant that need a supply of sucrose.

@allé saurssHn@G G mer &mrr&g,ﬁg)@m QL Cu o drer gCaaub epearm
Caumur(BaseneTr 6T (PHSIs.

Write any three differences between Photorespiration and Dark respiration.

EMP auflsL g8 umrevuflayend wpmid urevGuLl f&sn < fw elmarsafd
FEUEL Oprser wrenal ?

What are the enzymes involved in phosphorylation and dephosphorylation reactions in EMP
pathway ?

snpHloers seurflgselern seurg re iy wgededl. erer ?

Respiratory Quotient value of Anaerobic respiration is infinity. Why ?

[ Hmuys / Turn over
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u@E - IV/PART - IV

GO : Siemenggl elamasEnsEhd 6N waflEsab. X

Note : Answer all the questions.

34. (=) gwQugpb Yfey cueatum yoar eeuflgg, sigean Heom, @a@paaarts ubdl
TGS,
3|6V60
(<) QBWeD6y CTEDTED TR ? DIGE CUMSHMET LIL )L 6l ahleufl.
(@) Describe Five Kingdom classification. Add a note on its merits and demerits.

OR
(b) What is Aestivation ? Explain their types with diagram.

35. (&) W CuMTICUA EBIDUSHer TCaaibd gisl MUTEETTETT PEALSHILEDS

GT(LPSI5.
R ILNEVE]

(=) yGrrCsACwriBasErsGw, WesACuri((seErs@n Qe Cuuwirer
CoaumurH&eneT er(Lpsis.

(a) Write any five economic importance of family Euphorbiaceae.

OR
(b) Write the differences between Prokaryotes and Eukaryotes.

36. (=) Oprdlaaflar LamLsmer Ll igwalHs.
DI VEOF)
() @oeastilon samndEd, @6 doglimos samnyhEn oL Gu 2 drar
e arerenlibwad CaumpurHaenar er(ps)s.
(a) List the properties of Enzymes,
OR

(b)  Distinguish the anatomy of Dicot stem from Monocot stem.
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37. (=) QEHCurevQuinbaafien 1468uwamegpb e_emrgplL apenpullener efleuf].
ALV
() GEpéGaray ceLwyd wrppafe uremg@ear Quuwi erarar ? g6
peLQupib elemearsener eflauflsasa b,

(@)  Explain the insectivorous mode of nutrition in Angiosperms.
OR

(b)  What is the name of alternate way of glucose break down ? Explain the processes
involved in it.

38. (=) druev shHHulen eNerdsriu b LD SmHs.
ANV
(=) aumy Hleneuller o cirer greuy apmiGorer erg ? iger eurpelilwe Qawdsaar
TPSIS.
(@) Give the flow chart of Krebs cycle.
OR
(b) Which is the gaseous phytohormone ? Write their physiological effects.
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